### **ROSE MARY MODEL PUBLIC SCHOOL RAMACHANDRA NAGAR, PERUMALPURAM PHYSICS LAB - 30 X 20 = 630 SQ.FT (59 sq.mt)**





### ROSE MARY MODEL PUBLIC SCHOOL RAMACHANDRA NAGAR, PERUMALPURAM CHEMISTRY LAB - 40 X 21 = 840 SQ.FT (78 SQ.MT)





### ROSE MARY MODEL PUBLIC SCHOOL RAMACHANDRA NAGAR, PERUMALPURAM BIOLOGY LAB – 30 X 21 = 630 SQ.FT ( 59 SQ.MT)





### ROSE MARY MODEL PUBLIC SCHOOL RAMACHANDRA NAGAR, PERUMALPURAM COMPUTER LAB – 30 X 21 = 630 SQ.FT ( 59 SQ.MT)





### **ROSE MARY MODEL PUBLIC SCHOOL RAMACHANDRA NAGAR, PERUMALPURAM MATHS LAB - 41 X 22 = 902 SQ.FT ( 84 SQ.MT)**





# <u>ROSE MARY MODEL PUBLIC SCHOOL</u> <u>RAMACHANDRA NAGAR, PERUMALPURAM</u> <u>CLASS ROOM – PRIMARY – 26 X 22 = 572 SQ.FT ( 53 SQ.MT)</u>





### ROSE MARY MODEL PUBLIC SCHOOL RAMACHANDRA NAGAR, PERUMALPURAM CLASS ROOM – MIDDLE – 26 X 22 = 572 SQ.FT ( 53 SQ.MT)





### <u>ROSE MARY MODEL PUBLIC SCHOOL</u> <u>RAMACHANDRA NAGAR, PERUMALPURAM</u> <u>CLASS ROOM – SECONDARY – 26 X 22 = 572 SQ.FT ( 53 SQ.MT)</u>





# <u>ROSE MARY MODEL PUBLIC SCHOOL</u> <u>RAMACHANDRA NAGAR, PERUMALPURAM</u> <u>CLASS ROOM – SENIOR SECONDARY – 26 X 22 = 572 SQ.FT ( 53 SQ.MT)</u>





### ROSE MARY MODEL PUBLIC SCHOOL RAMACHANDRA NAGAR, PERUMALPURAM LIBRARY ROOM 61.5 X 22 = 1353 SQ.FT ( 126 SQ.MT)



